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March 08 calibration results —
2 processors on 1 pickup

Difference from processor 1 %S Position from mag current
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pO0=-0.1577 +0.0005222
p1=-0.001053+1.141e-005

chisg/MN = 260 957
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p0=-0.1056+-0.003424

p1=-0.001187 +1.672e-005

chisg/l = 54 959
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line of best fit
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Difference from processor 1 # Wsfv's

Difference from processor 3/ VsfY's

Dec 07 calibration results — 4 processors on 1 pickup

Difference from processor 1 %S Position from mag current
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pO=-2.514+0.01689

p1=-0.0006276+4.132e-006
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p1=-0.0006735+5.357-006
chisg/MN = 5.446
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Dec 07 resolution results — 4 processors on 1 pickup
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P3 res =2.28um P4 res = 1.89um
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Lab tests

data 1
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Processor input (arbitrary units)




